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112 3 4 5 6 7 8 9 10 11 12 13 14 15
b 1 1 1 HasHaueHue He 145.7 145.7 145.7 3.45
onpegeneHo
Wtoro no keaptupe '1' 145,7 145,7 145,7
2 1 HasHauyeHuve He 139.9 139.9 139.9
onpegeneHo
WToro no keaptupe '2' 139,9 139,9 139,9
3 1 HasHauyeHuve He 123.7 123.7 123.7
onpegeneHo
WToro no keaptupe '3’ 123,7 123,7 123,7
11 1 HasHauyeHue He 175.7 175.7 175.7
onpegeneHo
WToro no keaptupe '11' 175,7 175,7 175,7
12 1 177.0 177.0 177.0
Wtoro no keaptupe '12' 177.0 177.0 177.0
MToro no nepsomMy aTaxy 762.0 762.0 762.0
B |2 4 1 HasHaueHune He 144 .1 144 .1 144 .1 3.3
onpegeneHo
2 BankoH 0.8 0.8
WToro no keaptupe '4' 1449 144 1 144 1 0,8
5 1 HasHauyeHue He 142.6 142.6 142.6
onpegeneHo
2 BankoH 0.8 0.8
WToro no keaptupe '5' 143,4 142,6 142,6 0,8
6 1 HasHauyeHue He 124.0 124.0 124.0
onpegeneHo
WToro no keaptupe '6' 124.0 124.0 124.0
13 1 HasHaueHue He 130.7 130.7 130.7
onpegeneHo
2 BankoH 0.9 0.9
3 BankoH 0.8 0.8
WToro no keaptupe '13' Ha BTOPOM aTaxe 132,4 130,7 130,7 1,7
3 4 HasHauyeHue He 122.0 122.0 122.0
onpegeneHo
MToro no keaptupe '13' Ha TpeTbeM aTaxe 122.0 122.0 122.0
Bcero no ksaptupe '13' 254 .4 252.7 252.7 1.7
2 14 1 HasHaueHue He 108.8 108.8 108.8
onpegeneHo
2 BankoH 1.2 1.2
MToro no keaptupe '14' Ha BTOPOM aTaxe 110.0 108,8 108,8 1,2
3 3 HasHauyeHuve He 91.5 91.5 91.5
onpegeneHo
VToro no keaptupe '14' Ha TpeTbeM aTaxe 91,5 91,5 91,5
Bcero no keaptupe '14' 201.5 200.3 200.3 1.2
2 15 1 HasHauyeHuve He 128.4 128.4 128.4
onpegeneHo




2 [Bankon | 0.8 0.8
WToro no kBaptupe '15' Ha BTOpOM aTaxe 129,2 128,4 128,4 0,8
3 3 HasHauyeHune He 110.0 110.0 110.0
onpegeneHo
VToro no keapTupe '15' Ha TpeTbeM aTaxe 110.0 110.0 110.0
Bcero no ksaptupe '15' 239.2 2384 2384 0.8
MTOro no BTOpomy aTaxy 783,9 7786 [778,6 5,3
3 7 1 HasHauyeHue He 2871 2871 2871 3.67
onpegeneHo
2 BarnkoH 0.8 0.8
3 BankoH 0.8 0.8
WToro no keaptupe '7' 288,7 287 1 287 1 1,6
8 1 HasHauyeHue He 123.2 123.2 123.2
onpegeneHo
WToro no keaptupe '8’ 123,2 123,2 123,2
I |
MToro no Tpetbemy ataxy 735,4 733,8 733,8 1,6
MaH|9 1 HasHauyeHune He 285.5 285.5 285.5 2.50
cap onpegeneHo
OHbI
"
WToro no keaptupe '9' 285,5 285,5 285,5
10 1 HasHauyeHue He 115.4 115.4 115.4 1.50
onpegeneHo
2 BankoH 4.3 4.3
Wtoro no keaptupe '"10' 119,7 115,4 115,4 4,3
WToro no ataxy 'MaHcapaHbIi' 405,2 400,9 1400,9 4,3
I
WToro no 3gaHuio 2686,5 [2675,3 [2675,3 11,2




